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1D pull distribution
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1D pull distribution
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1D pull distribution
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1D pull distribution
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corr_Adet_bpm12X (ppb) 1D pull distribution
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1D pull distribution
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1D pull distribution

Mean
Std Dev
Underflow

Overflow

3.635e-10/0

X2/ ndf

57.42 + 129.07

Constant

0.4508 + 0.7733

Mean

0.2523 + 1.2960

Sigma

f'

...I...I...I..J .LI...I...I...

45

0/43 {
9

X2 / ndf

191

0

pm8X (ppb)

corr_Adet b

'8.81
£'8/87
8.8V
L'8.8v
0'8/8%
9'L/8V
G'L/8Y
V'8V
€'L.8V
2118V
L°LL8Y
0',.8V
9'9/87
S'9.8V
7'9.87
£'9/8V
9.8V
L'9.8v
0'9/8%
7'GL8Y
£'G/87
2'S/8V
'S8y
0'G/87
Sv.8Y
v'v.8Y
V.8V
V.8V
L'v.8y
0'v.87
V'E€L8Y
£'€L8Y
2'€L8Y
L'eL8y
0°€.8Y
£'¢L8Y
c'cl8Y

-°2L8Y

0'¢c.8Y
' 1,87
1.8V
C'T.8V
187
0'T.8V




RMS (ppm)

0.8

0.6

0.4

0.2

corr_Adet_bpm8X RMS (ppm)

b1 T 1
-
-
-
-
-
—
-
—
-
-
-
-
-
—
—
—
—
—
—
—
—
—
—
—
—
—
—
—
—
—
—
—
—
—
—
—
—
—
—
—
—
—
—




1D pull distribution
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1D pull distribution
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1D pull distribution
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1D pull distribution
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1D pull distribution
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1D pull distribution
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1D pull distribution
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1D pull distribution

pm1Y (ppb)
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1D pull distribution

pm1l1Y (ppb)
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